88°122
£6'222 .
062224} —-—- —
£6'222
- 65222
16222 reeee
16222
po'cze
01'c22
(@)
Orezz
£l
<t =
(4] c
. =
o o
~ S
=~ o
Ogczr v
0e'cze
bI'e22
A
R x2 2y B
ya'see
\2'€2e | 18'222
062z w.
£0€22
00°c2?
O 222
o
o
o £
(48] <
- =
o o
o
T} =
= :
o 68222 v
29°€22
2922 08'€2e .
98 j or'eze
veeze - - —- -
89°€zZ &) ve'eze
69'€2C
p1'€22
o
o
o .
o =
N =
o S
o N
— o
o >

£ceee w
S9'€ce :
66677 S Gc'ece

peeee 99°€Ce -

LSECC

mm%m
o

P5 0.100

€46°¢cc

6l°€cC

S.R. 222,00 m.n.m.

1.50

3.00

gp'cee
N 60222
1eee
gL'eze .
— 80627 & sLzee
£1'eee
0zcee wom.
N
aveze-t+-—-—- —
voees | | 18222
— Sl'ezz 1T 95222
66222
coeee
20°€2e
o
o
o
AN €
N 72z £
o o
© S
~ o
o 9822 o3
60°E22
12'€22 -
%\ﬁ
)
N
1€ |+ ——- —
12622
12’22 :
S hes _M 18222
y1°€22
60°€22
o
o
o
(ve) =
(o) c
O. =
< 2
T
ngummm o3
£
11§22 :
S5 leeze
ttllagezz | - —- —
65'€22 kgl szeze
9¢°€2¢
vE'€ze
¥9'€22
o
o
o €
© g
= 2
o N
o2 o
o 5
81'Ee?
£4'€cc  99'€2e -
00 oy 9z'e22
¥9°€2C
622 pH-— ——- —
1622
¥5'€22 W“ 0z'eze
£6°c2e
£r'eee
o
o
o =
8 =
= -
o N
N -
o 3

bGE22
25622
2rEce
& &% [WTeosze
o
)
N
Zreze 1 —-—
6c'eze @] |96z2z
ez L€€CC
8ec2e
eeeee
o
o
o ;
© =
(e
AN =
o 8
(4] N
= ;
o 62'e2e o3
peE22
z9'€ze .
8 ovr'eze
2y'eze
Lreeg bH-—-—-—- —
89'€Z2 F“ ve'€2e
G622 ﬂ
8622
o
o
o =
© E
= 2
o &
o ;
o A
zree K
6€°€Z2 .
e ﬂ 66'€Z2C
CUIXZI | | H
1T€Te ”m £6'22¢
Cpe2?
(€22
o
o
o =
© g
< =
o <5
© .
o A

85—

v&eee

99°cll

Leee

cLeee

P12 0.240 00

1Lece

98'tcc

pIeCe 88'€72

28’ece

6.°€2C
SRR

9.'€2e

vSEce

v9€ee

cO
[Se}
™
[N
[QN]

P70.140 00

b8°¢lC

SlUpYas

LCEec

P2 0.040 00

1 .
QO ®) o | r
Z| @ - 15|58F ©
£ _ = s O
= W) 0 o
N N @w 0
- O g 8 |
N a8 |E &
[ oS SN (W 5 =
$gEre (S £ 2
N -l T =|S|0l= v
0] 0 £ OvC m M_Un _Aln &
- S50 ¢ E’X ol Sho
T N
= 3 S
ts 33 S
8 LL]
3|s SEES =
V
£ a3 ~| 8
(=]
2% Z| o
W 3 3 1
= —E| - >
(@} Q|8 m Z
N o3 L
a g VS Nod
A ‘L
prd
m o 20
Y
N m o
LL]
— kS N
Nz ] LL|
Sl5l13 <5l | &
18|« Ol
SIEE 2| S
> |5 S X
@) = x
_ =19| =
=l o @)
< N Ll
o =N
=
3 g
19'€0—O——
g9'€2Z . 18'€22 3
praidd mmm €22 . o) oy ﬂ \eze
4
=)
N
- 25622
zo9eze—| - —- — S zreee 4 —-—
g9'eze & 1€°€22 ~ 69°€22 mm Ge'eze
19'€22
o
o
. o .
c N =
£ N £
g © g
N — N
RIS :
vi o 98022 o
6G'€22 K
: 68'€ze o oy
ﬂ 8Y'€Z2 N S5 w oreze
g
&
N
\\\\\\\\\ —8 oreze—|4+-—-—-—-—-
19'€22
£9'€ee
Wm Zreze S
o
(@) S
= .
= AN =
h w
S oLt =
o © o
b (a e
88222
06222
. N 9L'€ze :
68222 - g2 9.'222
g
=)
N
““““““ | m L2 -
£8'€2Z - v0'€22 04222
£2'€22
pheze
o
o
= o =
S N <
N o S
= >
& o &




